SN BBARD
HE: DTRAAD I8 HE(2A/2AAR)
Sel: ZZOARIIE £4 CEREE]
% 5 15|
SA B S (BH) - MEMY - BES Ol & 24 i BlRE2
3Tz 65,309,338 84,264,793 18,955,455
2 20,805,970
ol 13,239,867
= 31,263,501
DZEACE J|E HE(2A/LAAR) 34,451,182 56,870,640 A22,419,458
2 16,544,656
= 17,906,526
2zogIY xH 3,898,500 8,256,900 4,358,400
2 1,721,000
= 2,177,500
TTEAYSI|T BJEAABMNY X & 60,000 60,000 0
308 XX EHH S 0/ ™ 60,000 60,000 0
11 21 2SOICHE Z & X SIS AL HI 60,000 60,000 0
OHY - HFHX VYTE e 60,000
SRS SHXNAMH 2= 87,500 87,500 0
308 XX EHH S0/ & 87,500 87,500 0
01 HXSHILERS 87,500 87,500 0
OFAARZX SEXNAMH 25 87,500
2ZoBII MY a4 DS 9,000 9,000 0
201 Lyt HH| 9,000 9,000 0
01 AL 22l 9,000 9,000 0
O2TARIIB HE UY DS 9,000
DzgARNAG 29 300,000 300,000 0
307 212+0I | 300,000 300,000 0
SEEEE] 300,000 300,000 0
OBTRAYSNAL 2 300,000
NeHEYH 2D 2SHBTLAYSNAS 29) 300,000 300,000 0
(=12)
2 150,000
= 150,000
307 £12+0| & 300,000 300,000 0
2 150,000
= 150,000
05 D129l Et 3 300,000 300,000 0
OBZRARNAC 2% 300,000
2 150,000
= 150,000
2ERAFSAME 29(22) 82,000 20,400 61,600
2 41,000
= 41,000
301 LB HB 82,000 20,400 61,600
2 41,000
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SN BBASD
HE: BTRACR JlY HE(BA/2AZ)
Sl ZBOARIIB SYX L (e @
% 5 15|
SH-BH S (BAH) - HRAMY - BLS 01l &k o i SimE=E"
320 2EXNE 30,552,682 48,613,740 A 18,061,058
= 14,823,656
< 16,729,026
Agozda e =a 216,900 4,131,940 23,915,040
201 L2 | 26,100 26,100 0
01 AtR 22l H 26,100 26,100 0
OARHAYNH =XLB2DE S 29 26,100
202 044l 10,800 10,800 0
01 2L HI 10,800 10,800 0
OXNYARH FYHH =7 10,800
307 glztol o 180,000 95,040 84,960
02 QItHMAMHER 180,000 95,040 84,960
OFEASA 2HFAZ N 180,000
X2 A0 ASINs B 72,000 80,000 28,000
308 XX EHHI SOl E 72,000 80,000 A 8,000
01 X tHBoE2ExS 72,000 80,000 A8,000
O£x22d A0t AEIs 22 72,000
Lo sd JisE2 A (=1) 21,708,000 42,162,000 A 20,454,000
= 10,854,000
S 10,854,000
402 12t Xr=01 & 21,708,000 42,162,000 A 20,454,000
= 10,854,000
& 10,854,000
02 QI THEAMLEZ(0IETL) 21,708,000 42,162,000 A 20,454,000
oxgozd Jls=22d 21,708,000
= 10,854,000
= 10,854,000
Agozd JissE4s & 2388 HsS(=1) 6,134,000 0 6,134,000
= 3,067,000
== 3,067,000
402 QI2t X201 & 6,134,000 0 6,134,000
= 3,067,000
= 3,067,000
02 QIZEXt 2 A S 2= (0 M THEA ) 6,134,000 0 6,134,000
oxNgozd JlsE2H 6,134,000
= 3,067,000
S 3,067,000
ANgozd 83 S XNEAE(21) 405,312 200,000 205,312
= 202,656
e 202,656
402 QI2t X201 ™ 405,312 200,000 205,312
= 202,656
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2AM 3322
JH: zZ2Ao=E DUt HF(BAH/B2AHE)
¢ IZ=IE RINH (et
% 5 SIE]
2N -3 - (3H) - NHEAMY - BE= Ofl &F o a&% Hws2
= 202,656
02 QIZERHE AN 2 X (01 & TH &) 405,312 200,000 205,312
OXNgoSd HFFEANLY A=A 405,312
= 202,656
S 202,656
oz M2 ojzeled oAyl X2 (21) 1,400,000 600,000 800,000
=2 700,000
S 700,000
307 2120l & 1,400,000 600,000 800,000
=2 700,000
3 700,000
02 QA LA EE 1,400,000 600,000 800,000
oOXNgozad ItA ozl oMY K& 1,400,000
=2 700,000
-3 700,000
Zso2e sgAYY 2IH 128,520 142,800 14,280
307 gi2tol & 128,520 142,800 14,280
02 QA LA EE 128,520 142,800 14,280
OZEUsd SLACIEY 2SN 128,520
S2EN FSHH P 2AH S 21,000 21,000 0
308 XHXI &M S0l & 21,000 21,000 0
01 MHXSHMBAEES 21,000 21,000 0
oSN =sMA 7= 2AH S N 21,000
oz@ 2o XAAY 30,000 30,000 0
308 XtXI M S0l & 30,000 30,000 0
01 MHXSHMBAEES 30,000 30,000 0
OB 20 NFAY 30,000
Ngoga BN A2 = 241,750 0 241,750
402 RIZERHE O A 241,750 0 241,750
01 QIR AN 2 2 (RHAITH &) 241,750 0 241,750
oxgozd HUHZMW Al2e = 241,750
S0z A SANL A 50,000 0 50,000
402 QIZERHEOI A 50,000 0 50,000
01 QIZERHZ AN 2 2 (RHAITH &) 50,000 0 50,000
OZS=2d 2cH BFME At 50,000
o2@ NEMLASA XA 145,200 0 145,200
307 gl2tol & 145,200 0 145,200
02 QIAAMAYE R 145,200 0 145,200
0oz NSHLASA X 145,200
ABFAX L FANS AZHFY A3H(2A/EAHAZ) 13,696,637 13,077,491 619, 146
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2AM 3322
I Q2 HAX L FAHS 2T Y 2 (2H/2HR)
el S FAX XA (cte M
2 5 15
SA B S (SIH) - NRAY - S Ol & 0 S H RS2
= 2,745,514
J| 5,740,690
S 5,210,433
S FHAX X 9,109,286 8,215,642 893,644
= 2,715,514
J| 4,187,340
& 2,206,432
FOFF X XJ AL (Q1241])(=1) 2,775,000 1,800,000 975,000
= 1,850,000
< 925,000
308 AAEHHSOIA 2,775,000 1,800,000 975,000
= 1,850,000
< 925,000
01 HXSHHBLEXS 2,775,000 1,800,000 975,000
O20HF X K& ALY 2124 2,775,000
= 1,850,000
= 925,000
O HF AL XNZA (AOFEAED 21241 ) (= 1) 375,000 375,000 0
= 250,000
= 125,000
308 AUXIEHSOIA 375,000 375,000 0
= 250,000
< 125,000
01 HXESHILEEXS 375,000 375,000 0
Oz HUX XJAAS 2l AH| 375,000
= 250,000
= 125,000
OHMEE St Tt 2= 100,000 50,000 50,000
308 UXIEHSOIA 100,000 50,000 50,000
01 HXHHBLEXS 100,000 50,000 50,000
O1NRE LM QrME ZS4 XN 100,000
OZHAX gzetdY XA 200,000 200,000 0
308 AXISM SO0l & 200,000 200,000 0
01 AXEHBAEES 200,000 200,000 0
oOzaxa 29 X 200,000
FAXNS S2Ad=dH N (=21) 497,880 378,875 119,005
J| 497,880
307 glz2tol & 497,880 378,875 119,005
J| 497,880
02 QIHF &AL E X 497,880 378,875 119,005
OFAX S=sdz2dH 2FXA 497,880
J| 497,880
FoUX FHAYET UE/KR 2H(=1) 37,800 91,310 A 53,510
J| 37,800
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A
X XH -
(=

e

=32 =1
SZHAX L HANS A=Y LS (EH/22H
g HAX X

[
0
ra
0

SA-EZH-SA(BAH) - NRAY - BHES Ol &F 4 gg% Hlusz
307 Q12+0| 37,800 91,310 A53,510
I 37,800
02 DI2HH A AR B E 37.800 91,310 A53,510
OFAN AR WELD P=5 37,800
p 37,800
NS SZo2I N (2 D) 2,796,280 2,733,744 62,536
ol 2,796,280
308 XiXI &3 SO1 & 2,796,280 2,733,744 62,536
ol 2,796,280
01 HX ML EZES 2,796,280 2,733,744 62,536
OFAN 22ARIIZ 2L 2,796,280
0| 2,796,280
S22 DEAHAXNY A (LHARIIZ X&) (2 196,680 240,000 £43,320
)
p 196,680
308 XiXI £+ 3 SOI & 196,680 240,000 £43,320
ol 196,680
01 IXISHHBAEZES 196,680 240,000 £43,320
og=oBIT N 196,680
ol 196,680
SZo2 DEAHAXS (25008 0A)(22) 258,700 257,669 1,031
ol 258,700
307 212+0] & 258,700 257,669 1,031
ol 258,700
02 LB &AL B E 258,700 257,669 1,031
ozl It 258,700
p 258,700
2HABIIZ ICTEE EX AL (XA X&) (=2) 36,718 32,708 4,010
=2 36,718
308 AtAI M SO0l A 36,718 32,708 4,010
=2 36,718
01 XXM B AL 36,718 32,708 4,010
OXIXtA X & 36.718
2 36,718
SAOABIIB ICT 2 A AY(YAZHEEL X 108,200 104,400 1,800
2)(22)
=2 53,100
[ 53,100
307 Q12+0| & 108,200 104,400 1,800
2 53,100
[ 53,100
02 I2HH &AL B E 108,200 104,400 1,800
oZAZMELA X 106,200
2 53,100
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A 3322
HM: O HUX L FAHES 930t ASHEH/EAHAR)
e o= F X XA (cte M
2 5 15
SA B S (SIH) - NRAY - S Ol & 0 S H RS2
= 272,741
= 272,741
02 QI2HF A AR E X 545,482 534,340 11,142
OXNAEMBAHYZHH 29 545,482
= 272,741
& 272,741
OZFAX ABNFA 2H(=1) 150,000 150,000 0
= 100,000
= 50,000
308 AHX| & A S0l A 150,000 150,000 0
= 100,000
= 50,000
01 XS ANEEZS 150,000 150,000 0
O2AZFHUX ASMIHA oIHA2AY X 150,000
= 100,000
& 50,000
EXO @ ZOHARoIN 2FH| XA 250,000 500,000 A 250,000
308 AtXI S SO0l H™ 250,000 500,000 A 250,000
01 AXESHMBAEXEZ 250,000 500,000 A 250,000
Ox=x2oz @ ZoHARo N 294l K& 250,000
FHAEAHS K& 4,587,351 4,861,849 N 274,498
30,000
J| 1,553,350
& 3,004,001
HEHAE o2l & Mo &2l XN (X o= Hl)( 1,765,200 0 1,765,200
MEAIY)
308 XX A S0l & 1,765,200 0 1,765,200
01 XM ANEEZ 1,765,200 0 1,765,200
OL&E X oS HI(HE) 1,765,200
eI o2l & Mor el X (Mot stA 2el) 41,304 0 41,304
(MEtALY)
308 AHXI & A S0l A 41,304 0 41,304
01 UAXESHMBANEZZ 41,304 0 41,304
ORIt Xt 2e| (M3t) 41,304
2ot XNAA KNS (LMET SEXXNMEH K& 200,000 200,000 0
)(21)
J| 100,000
& 100,000
307 212t01 & 200,000 200,000 0
J| 100,000
& 100,000
02 QI2ZHF A AL E X 200,000 200,000 0
OYMEI SEXXNHE XN 200,000
J| 100,000
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=N BBYZH
M. BN Y HUHUE ARVUAY As(2A/2HR)
ol ARHANE N (cHol: &8
% 5 15|
2N -3 - (3H) - NHEAMY - BE= Ofl &F o a&% Hws2
| = 700,000
2otel NAH XN (LAWY X2)(2D) 1,626,000 1,761,600 A135,600
p] 1,355,000
& 271,000
308 XX SHH S0/ ™ 1,626,000 1,761,600 £135,600
ol 1,355,000
& 271,000
01 HASHBLRBES 1,626,000 1,761,600 135,600
oAy X 1,626,000
I 1,355,000
= 271,000
2oterzel UM N (NSSHE UB) (D) 196,700 205,000 8,300
bl 98,350
= 98,350
307 QI2+0| & 196,700 205,000 £8,300
p] 98,350
= 98,350
02 QB MALBE 196,700 205,000 8,300
O YME X 196,700
gl 98,350
= 98,350
AR0IZRN S ABNAANY(2D) 42,857 42,857 0
= 30,000
= 12,857
307 QI2+0| & 42,857 42,857 0
= 30,000
= 12,857
SEEEEEN 42,857 42,857 0
OAZAIEZR S ABX AL 42,857
=2 30,000
= 12,857
WO H S o2 X & 196,000 280,000 84,000
308 XX S S 0| 196,000 280,000 84,000
01 HXSHBLRED 196,000 280,000 84,000
OMIEEH L oIZeX o R 196,000
SET oE BA 2Y 509,290 565,888 56,598
308 XX EHH S0/ 509,290 565,888 56,598
N EYEREES 509,290 565,888 56,598
P5X 9= HA 29 N 509,290
MUNY Us 25 N 10,000 0 10,000
307 QI2+0| & 10,000 0 10,000
02 B P MAL B E 10,000 0 10,000
OMANEY Us 25 N 10,000
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=

P
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Bl w

Ol

L3220 9EMHA SE(B2AHA/BHAYZ) 8,438,573 5,198,481 3,240,092
7,105,356
1,333,217

hn X

S22z dxZ &3 8,136,700 4,844,600 3,292,100
6,934,500
1,202,200

hn X

S9SN HH 22H(=21) 202,400 195,200 7,200
101,200
101,200

hn X

307 glztol A 202,400 195,200 7,200

101,200
101,200

X

02 QItHMAMAEX 202,400 195,200 7,200
sASXNEHE 2 202,400

101,200
101,200

mn X

S=2AZ20&sHA XNA(22) 3,100,000 3,100,000 0
2,170,000
930,000

n <

307 21201 A 3,100,000 3,100,000 0

2,170,000
930,000

h <

02 BlZtF A AMSE X 3,100,000 3,100,000 0
OJIE 228292 )| 294 3,100,000
2,170,000
930,000

hn X

HHAM= 5 SSHA RSUXE(21) 90,000 90,000 0
45,000
45,000

X

307 glztol o 90,000 90,000 0

45,000
45,000

X

A X 90,000 90,000 0
OdHAds S SESHX WUSFHXH 90,000
45,000
45,000

hn X

22920/ Btz g 2xz3(=22) 1,160,000 635,000 525,000

1,034,000
126,000

mhn X

307 glztol A 1,160,000 635,000 525,000

1,034,000
126,000

hn X

0
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1,160,000 635,000 525,000
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126,000
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SH: BBoZD
HM: La20b ARAHIA HE(2A/ZAAR)
Csl: 2302 X & G-
SM -3 - (3) - NRAY - HES Ofl &F o ﬁlgi Hws2
NSHBEHI 23 N (2D) 23,500 24,400 A900
J| 23,500

403 XX SHHI S XHE 0l ™ 23,500 24,400 £900
ol 23,500

01 IXISHH X2 E 23,500 24,400 £900
ONSAFEHI 22 N 23,500
p] 23,500

SZQAMHSTEMAN 2E(2 D) 3,560,800 0 3,560,800
gl 3,560,800

307 QI2+0| & 3,560,800 0 3,560,800
gl 3,560,800

02 QI AMALEE 3,560,800 0 3,560,800
O MNE 2YX 2 3,560,800
p] 3,560,800

WHol2 MHRE 301,873 353,881 A52,008
p] 170,856
= 131,017

NS 15,450 15,450 0

202 01 bl 7,650 7,650 0

01 2UHoi | 7,650 7,650 0
OMHSZoAE AYET 7,650

307 9I240| & 7,800 7,800 0

02 QI HMAR B E 7,800 7,800 0
OMHoIENARSY 2 7,800

NEGSY YNV (D) 25,200 25,200 0
ol 25,200

308 XHXI €A S0l & 25,200 25,200 0
I 25,200

IR ERCES] 25,200 25,200 0
OXe WHBYESZY 2N 25,200
p] 25,200

HHARER 2N (22) 186,000 187,200 A1,200
p] 93,000
= 93,000

307 QI2+0| & 186,000 187,200 A1,200
p] 93,000
= 93,000

EIEPONTEES 186,000 187,200 A 1,200
OHAY MU 2HLYQI WX S 186,000
ol 93,000
= 93,000

WHolE SMSNY 22 (21) 75,223 126,031 50,808
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SN BBARD
HE: BLAR0F ARMHIA HE(2A/2A02)
Sl MUoAR HMHPE CEREE]
% 5 15|
SA B S (BH) - MEMY - BES Ol & 24 i BlRE2
pl 57,656
= 22,567
307 212+0| & 75,223 126,031 50,808
p] 52,656
= 22,567
02 1A LA BT 75,223 126,031 50,808
oMY S2AR PHSNY 2Y 75,223
ol 52,656
= 22,567
s N2 AHHIA HEB(2A/2AAR) 7,649,614 8,048,049 398,435
2 1,104,400
I 393,821
= 6,151,393
2REAT 7,649,614 8,048,049 398,435
2 1,104,400
bl 393,821
= 6,151,393
RObE MDY 2Y 84,328 86, 100 A1,T72
308 XX EHH S0/ 84,328 86, 100 A1,T72
N EYEREES 84,328 86, 100 ISKZZ
OB HAX MM =ETE 84,308
g ALl N 462,000 660,000 198,000
308 XX €A S 01 462,000 660,000 198,000
O1 IXESHBHEEXS 462,000 660,000 A198,000
otz AL N 462,000
A2 MO YRR 2ALES X 324,100 324,100 0
308 XX M S0l ™ 324,100 324,100 0
01 HXSHBL LTS 324,100 324,100 0
O MO AL B2 2ARYS XL 324,100
ARAMOE HLBRIKH (B AY) 2,784,000 0 2,784,000
308 XX SHH S0/ ™ 2,784,000 0 2,784,000
B EYEREES 2,784,000 0 2,784,000
OB AMOL A2ABE| KB (HE) 2,784,000
YR Azl X (HEAY) 937,440 0 937,440
308 XX EHH S0/ 937,440 0 937,440
01 X SHBLRSED 937,440 0 937,440
oHYRR XV (M) 937,440
PRI EHAY 2RO (2D) 25,941 24,360 1,581
ol 21,621
= 4,320
308 XX M S0 25,941 24,360 1,581
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SMA &8
g 2=
=Dy

S

SN P SA(BH) - MBAY - BYS 01l &k o

=

[ M
2
(EI5
El
Ol
0

21,621
4,320

mn S

NeMBdE2x3 25,941 24,360 1,581
2 BxorEy 25,941

21,621
4,320

hn X

EESMEASE(21) 6,240 6,240 0
5,200
1,040

X

308 AFXIEHHM SOl ™ 6,240 6,240 0
5,200
1,040

X

z3 6,240 6,240 0
OEZE2NZALE M= 6,240

5,200
1,040

mn X

FAEMR oz X2 (21) 22,800 18,000 4,800
19,000
3,800

hn X

308 XXl EHHM SO0l & 22,800 18,000 4,800
19,000
3,800

hn X

JaEL= 22,800 18,000 4,800
OFAENMR ZHI XA 22,800
19,000
3,800

X

DAY ZH XA (=1) 103,200 109,200 26,000

86,000
17,200

n X

308 AHXIEHH SOl ™ 103,200 109,200 26,000

86,000
17,200

mn X

x= 103,200 109,200 A6,000
=4l X2 103,200

86,000
17,200

hn X

0=0t & dFH0[40t 22 XNE(=1) 190,800 210,000 219,200

159,000
31,800

hn X

308 AFXIEHH SOl ™ 190,800 210,000 A 19,200

159,000
31,800

X

01 HXHHBAEES 190,800 210,000 219,200
& Fot 2= Hl XI& 190,800

159,000
31,800

©
=]
H
He
x
ra
0x
(=)
0

mn X
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2M: B2221
MM H=2 QEA MHA M2(BA/BHAR)
ool AN (ctel &
% = RE]
SN -FH -4 (3H) - HEMNY - BES Ol &F S8 agﬁ Hus2
SHSAOIA A & &ot2t2(=21) 114,000 122,400 A 8,400
J| 95,000
[= 19,000
308 XX St S 0| & 114,000 122,400 A 8,400
Il 95,000
[ 19,000
01 X SHHZBAEXS 114,000 122,400 A 8,400
ONFSHAIOIA ZAF & Eot2e 114,000
Il 95,000
= 19,000
SAEA GHE2AAL L BRI N (2D) 9,600 12,600 A 3,000
J| 8,000
< 1,600
308 XHXI SR SO0l A 9,600 12,600 A 3,000
J| 8,000
[~ 1,600
01 AXESHHIANEXS 9,600 12,600 23,000
OMEH HEHAA L BHI| XL 9,600
Il 8,000
[= 1,600
HASE JMH ZHES N (=2D) 1,325,280 832,800 492,480
=2 1,104,400
= 220,880
308 XHXI EHH S0l & 1,325,280 832,800 492,480
=2 1,104,400
= 220,880
01 IXSHHINEES 1,325,280 832,800 492,480
ONASZE JIMA ¢ XHES I 1,325,280
= 1,104,400
[~ 220,880
LHQI AR X 41,885 41,885 0
308 X XISt S0 & 41,885 41,885 0
01 AXSHHIANEXS 41,885 41,885 0
OHAAAH X 41,885
ster whol X 18,000 36,000 A 18,000
308 XHXI SR SO0l A 18,000 36,000 A 18,000
01 IXESHHIANEXS 18,000 36,000 A 18,000
Ofte el X 18,000
2ossxeY &AX XY 1,200,000 0 1,200,000
403 KX SHS =01 & 1,200,000 0 1,200,000
01 AXSHMA=Ex 1,200,000 0 1,200,000
OZ22MEX2Y & X 1,200,000
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=N BBYZH
M 2QNEH ARMH PH(2A/2AAR)
CHSl: ojorelA OrF e (cHol: &8
% 5 15|
2N -3 - (3H) - NHEAMY - BE= Ofl &F o a&% Hws2
4QNEY ABHH PH(BA/BAAR) 647,900 634,200 13,700
= 411,400
= 236,500
ojorel s OHEBR 642,400 634,200 8,200
= 411,400
= 231,000
ojoteia X E B2 11,700 11,700 0
202 01 bl 11,700 11,700 0
01 24 01 bl 11,700 11,700 0
CEI=PN =k T 11,700
SEo%E He 2,100 2,100 0
206 TH 2 bl 2,100 2,100 0
01 T2 bl 2,100 2,100 0
OoA%E, HFE S ZHTY 2,100
BRSNS (BILAIY) AUE KB (2D) 609,600 609,600 0
=2 406,400
= 203,200
308 XX € X S 0l & 609,600 609,600 0
=2 406,400
= 203,200
IR ERCES] 609,600 609,600 0
OBAT SEXNBAL D 609,600
= 406,400
= 203,200
UAT Y2 BHLNE 2 9,000 0 9,000
201 L2yl 9,000 0 9,000
01 Ak 2t 2l 9,000 0 9,000
OUYRET 2ABIBNLIAE 2 9,000
DYEE=T 2S5 (2D) 10,000 0 10,000
= 5,000
= 5,000
301 YA 10,000 0 10,000
= 5,000
= 5,000
01 ABI B X262 10,000 0 10,000
ODIFRESR X 2| 10,000
= 5,000
= 5,000
AROUBT RXIIB XY 5,500 0 5,500
ROl BN BX K AL (HSAY) 5,500 0 5,500
201 L2yl 5,000 0 5,000
01 At 2reltl 5,000 0 5,000
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